MATH 16020: AppLIED CALCULUS 2 Quiz 1 (SOLUTIONS) WED., JAN. 19, 2022

Please show all your work! Answers without supporting work will not be given credit.
Write answers in spaces provided.

Name:

1. [5 points] Complete the given table. (Exact Values Only!)

0 0 T T m m
6 4 3 2
sin 970 1 @ ﬁ ﬂ:l
2 2 2 2 2
cos ﬁfl V3 V2 1 Vg
2 2 2 2

2. [2 points] Find the derivative of y = cos®(2z + 1).

Solution: Note that y = cos®(2z + 1) = [cos(2z + 1)]?. Use Chain Rule twice. So

y' = 3[cos(2z + 1)]* - (—sin(2zx + 1)) - _2

5 pt

1 pt 0.5 pt 0.

3. [3 points] Compute

Solution:

1 2/3 1 2/3
/de:/f—&-xidx
x x x

1 .
:/7+x71/3dm
x

3 o5
= ln ‘T‘ + 5.732/3 + C




